

Supplemental Resolution for Maintenance of Streets and Highways by Municipality Under the Illinois Highway Code

BE IT RESOLVED, by the		C	ouncil	of the
		(Council or Presider	nt and Board of Trustees	5)
City	of	LeRoy		Illinois, that there is hereby
(City, Town or Village)		(Name)		
appropriated the Additional Sum of	\$122,000.00	of Motor Fuel	Tax funds for the p	urpose of maintaining
streets and highways under the appl	icable provisions of t	he Illinois Highwa	v Code from	January 1, 2009
The color and major and appropriate	rodoro provisiono or t	ine minois riignwa		(Date)
to December 31, 2009				(000)
(Date)				
BE IT FURTHER RESOLVED, the Municipal Estimate of Maintenance Coresolution, are eligible for maintenance BE IT FURTHER RESOLVED, the submit to the Department of Transport expenditures from and balances remainded.	Costs, including suppose with Motor Fuel To at the Clerk shall, as portation, on forms fur	plemental or revise ax funds during the soon a practicab nished by said De	ed estimates approvene period as specificated as specificated as specificated after the close of expartment, a certificated as the spartment of the spartment o	yed in connection with this ed above. the period as given above.
BE IT FURTHER RESOLVED, the resolution to the district office of the			t two certified copies Paris	s of this, Illinois.
I, Sue	Marcum		Clerk in and for th	e City
of LaDau		0 1 1		(City, Town or Village)
of LeRoy	· · · · · · · · · · · · · · · · · · ·	, County of		McLean
hereby certify the foregoing to be a tr	rue, perfect and com	plete copy of a re	solution adopted by	
the Counc	il	at a meetir	ng on M	1ay 4 th , 2009
(Council or President and	Board of Trustees)			Date
IN TESTIMONY WHEREOF, I ha	ve hereunto set my h	nand and seal this	day	of <u>May, 2009</u>
(SEAL)	// // · · · · · · · · · · · · · · · · ·)	City	Clerk
Jul	Vareum		City, Town or Village)	— Clerk
•			City, Town or Village)	
	Authori	zed MFT Expend	lituro	
	Addion	zed Wii i Expelia	iture	
		•		
		Date		
	Departm	ent of Transporta	ntion	
		•		
[:	ě			
	F	Regional Engineer		



Resolution for Improvement by Municipality Under the Illinois Highway Code

BE IT RESOLVED, by the Council					of the
City	of	Council or President a LeRoy	and Board of Trustees		Illinois
City, Town or Village that the following described street(s) I			way Code:		
Name of Thoroughfare	Route	From		To	
East Center Street		Daniel Street		Park Street	

BE IT FURTHER RESOLVED, 1. That the proposed improvement single pavement on Center Street including					brick
		and shall h	e constructed	36'	wide
and he designated as Section 00.0	0007 00 144		- Constitucted	30	wide
	0027-00-WF		· · · · · · · · · · · · · · · · · · ·		
2. That there is hereby appropriated t	he (addition	al ☐ Yes ☐ No) sum	of Seventy Tho	usand	
			Dollars (\$107,000.00) for the
improvement of said section from the	municipality	's allotment of Motor F	uel Tax funds.		
3. That work shall be done by	•	Contract			; and,
BE IT FURTHER RESOLVED, that the district office of the Department of Tra	e Clerk is he nsportation.	ereby directed to transn	act or Day Labor nit two certified co	ppies of this resolut	 ' '
Approved	I, Si	ue Marcum		Clerk ir	and for the
	City	of LeRoy	V		
•		wn or Village			
Date	County	y of <u>McLean</u>		, nerei	by certify the
	forego	ing to be a true, perfect	t and complete co	py of a resolution a	ndopted
	by the				
Department of Transportation	at a me	Council or Peeting on	resident and Board o May 4 th , 2009	f Trustees	
•	IN TES	STIMONY WHEREOF,	I have hereunto s	Date set my hand and se	al this
	_4;	TH day of	1A4, 2009	7	
Regional Engineer		(SEAL)	144, zoog Marcu		
		_ Què	Marcy	m	



Resolution for Maintenance of Streets and Highways by Municipality Under the Illinois Highway Code

BE IT RESOLVED, by the		Co	ouncil		of the
		(Council or Presiden	t and Board of Tr	•	
City	of	LeRoy		, Illinois, that	there is hereby
(City, Town or Village) appropriated the Additional Sum of	\$35,000.00	(Name) of Motor Fuel	Tax funds for t	he purpose of m	naintaining
streets and highways under the app	licable provisions	of the Illinois Highway	y Code from		y 1, 2009
to December 31, 2009		•		(Dat	e)
(Date)		•			
BE IT FURTHER RESOLVED, the Municipal Estimate of Maintenance resolution, are eligible for maintenance resolution, are eligible for maintenance and balances remains to the Department of Transpolution to the Department of Transpolution to the district office of the	Costs, including some with Motor Funds the Clerk shall ortation, on forms naining in the accurate the Clerk shall	supplemental or revise el Tax funds during th , as soon a practicable furnished by said De ount(s) for this period immediately transmit	ed estimates and e period as specified as specified as specified as specified as a specified as	oproved in connectified above. Se of the period a criffied statement opies of this	ection with this
		ansportation, at			, IIIINOIS.
I, Sue	Marcum		Clerk in and f		City
of LeRoy		, County of		(City McLean	, Town or Village)
hereby certify the foregoing to be a t	rue, perfect and c	complete copy of a res	olution adopte		
the Counc	il .	at a meeting	g on	April 6 th , 200	9
(Council or President and	Board of Trustees)	· · · · · · · · · · · · · · · · · · ·		Date	
IN TESTIMONY WHEREOF, I ha	ve hereunto set r	ny hand and seal this	6th	day ofApril,	2009
(SEAL)	Marci	1112	City	Clerk	
· · ·	" Cava	<u> </u>	City, Town or Villa		
		,,	only, rount or villa,	go)	
	Auth	orized MFT Expendi	ture		
i	i				•
	Depa	Date artment of Transportat	tion		
	Depa		tion		



Municipal Estimate of Maintenance Costs

			4	Section Number	09 - 00000 - 00 - GM	
eriod from	01/01/2009	to	12/31/2010	Municipality	City of LeRoy	

Maintenance		For Group I, II, o	r III (Mat	erial. Fquip	ment or Lah	or)	
Operation	Group				Unit		Operation
(No. – Description)	(I,II,III,IV) -	ltem .	Unit	Quantity	Price	Cost	Cost
1. Patch Bituminous	11	Pre-Mix Patching Material	Ton	50	95.00	4,750.00	4,750.0
Streets							
2. Add Gravel to	- 	Aggregate Surface CSE,	Ton	400	11.00	4,400.00	4,400.0
Roadway		TY-B			1 1100	1,100.00	1,100.0
Aggregate for		Seal Coat Aggregate	Ton	50	10.00	500.00	500.0
Bleeding	-	'i :					
4. Snow Removal	1 11	Salt	Ton	100	80.00	8,000.00	8,000.0
4. Onow Nomovai	- "	Gait	1011	100	00.00	0,000.00	0,000.0
5. Replace Signs	11 -	Signs	Each	60	50.00	3,000.00	
		Posts	Each	60	30.00	1,800.00	4,800.0
6. Paint for Markings	11	Traffic Paint	Gal.	50	20.00	1,000.00	1,000.0
7. Replace Culverts		Pipe Culvert, TY-I 10"Dia.	L.F.	90	8.00	720.00	
· · · · · · · · · · · · · · · · · · ·	- "	12"Dia.	L.F.	250	8.50	2,125.00	
		15"Dia.	L.F.	100	9.50	950.00	3,795.0
8. Replace MH	II	Manhole Casting & Lid	Each	4	250.00	1,000.00	
Casting & Lid		Concrete to Set Casting	C.Y.	5	95.00	475.00	1,475.0
	1						
		1 ,					
		1					
							
		.1	<u> </u> Т	otal Day La	hor Costs	· ·	28,270.00
					···········	peration Cost	
				***************************************	. 1		28,270.00
Base Fee) \$1000 + Gr	oup II (2% x 2	_	Pre	eliminary En	gineering	1,565.40	
			Eı	ngineering l	nspection	0.00	
•		l Ad	vertising	and Materia	al Testing	0.00	
							4.505.40
		1 n,				ineering Cost	1,565.40
	· · · · · · · · · · · · · · · · · · ·		_	Total Estir	mated Main	tenance Cost	29,835.40
Submitted:	/ Apri		Approve	ed:			
- WALLEY	-0.00-0.0	Date				Date	
By: Municipal O	801 1/17	Mayor Title				egional Engineer	

Submit Four (4) Copies to Regional Engineer



Supplemental Resolution for Maintenance of Streets and Highways by Municipality Under the Illinois Highway Code

BE IT RESOLVED, b	y the		C	Council			of the
Cit			(Council or Presider	nt and Board of Tr			* *:
City (City, Town or Villag	of		LeRoy		, Illinois, th	at there is he	reby
appropriated the Additio		2,000.00	(Name) of Motor Fuel	Tax funds for	the purpose of	maintaining	
streets and highways un	der the applicable	provisions of th	e Illinois Highwa	ay Code from		ary 1, 2009	
to December	31, 2009				ں)	ate)	•
(Date	e) .				•		
BE IT FURTHER RE Municipal Estimate of Ma resolution, are eligible fo	aintenance Costs, i r maintenance with	ncluding supple Motor Fuel Ta	emental or revise x funds during tl	ed estimates a ne period as sp	pproved in con pecified above.	nection with	this
BE IT FURTHER REsubmit to the Departmer expenditures from and b	it of Transportation	, on forms furni	ished by said De	epartment, a co	se of the period ertified stateme	d as given ab ent showing	ove,
BE IT FURTHER RES	SOLVED, that the Conffice of the Department	Clerk shall imm ment of Transp	ediately transmil ortation, at	t two certified o		, Illinois.	-
•	Sue Marcui	m		Clerk in and t	for the	City	
of	LeRoy		, County of		(C McLear	ity, Town or Villa า	ige)
nereby certify the forego	ng to be a true, per	fect and compl	ete copy of a re	solution adopte	ed by		
he	Council		at a meetin	ig on	May 6 th , 20	·. 09	
(Council or	President and Board of	Trustees)		-	Date)	
IN TESTIMONY WHE	REOF, I have here	unto set my ha	and seal this	6th	day of Ma	y, 2009	
SEAL)	Sur Man	crun		City	Clerk		
	va i (aa	70011	(City, Town or Villa	ge)		
		Authorize	ed MFT Expend	iture			
		Danades	. Date	tion			
		Deparime	nt of Transporta	IIION			
	:			•			
		Re	gional Engineer		-		





Resolution for Improvement by Municipality Under the Illinois Highway Code

BE IT RESOLVED, by the Coun	cil ·			of the
City	of	Council or President : LeRoy	and Board of Trustees	III a a la
City. Town or Village	· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·	Illinois
that the following described street(s) be improved	i under the Illinois High	way Code:	
Name of Thoroughfare	Route	From		То
East Center Street		Daniel Street	Park St	reet
				· · · · · · · · · · · · · · · · · · ·
	·····			
BE IT FURTHER RESOLVED, 1. That the proposed improvement	shall consist.	of Midoning and Hal	LAAS. A - G - H L CO	
That the proposed improvement				
pavement on Center Street including	g necessary s	torm sewer and other u	utility upgrades as require	d.
				·
		and shall b	e constructed 36'	wide
nd be designated as Section 09-	00027-00-WF	?		
That there is hereby appropriated	the (addition	al 🗌 Yes 🗌 No) sum (of Seventy Thousand	
	•	— — ,		20.00
			Dollars (\$107,00	00.00) for the
nprovement of said section from th	e municipality	's allotment of Motor Fu	uel Tax funds.	
. That work shall be done by		Contract		; and,
E IT FURTHER RESOLVED, that I	he Clerk is he	ereby directed to transm	act or Day Labor nit two certified copies of	this resolution to the
istrict office of the Department of T	ransportation.	•		
Approved				
Approved	1,	ue Marcum		Clerk in and for the
	City	of LeRoy		
	City, rov	vn or Village v of McLean		, hereby certify the
Date				,
	forego	ng to be a true, perfect	and complete copy of a r	esolution adopted
	by the	City Council		
Department of Transportation	at a me	Council or Pr eeting on	resident and Board of Trustees May 4 th , 2009	
		-	Date	
	IN LES	HINVONY WHEREOF, I	I have hereunto set my ha	and and seal this .
Decision E		day of		
Regional Engineer		(SEAL)		
		7.		•
	-		City Town or Village Clerk	